1/2

KB BRI SRR K E BB

ﬂz — YA
e 1130 rhER R & kDI FH S vl
E S 2018-20-014027
T i/ W BUEFHIK IR A L8%EF (3 0 - 8IH) %5
5 T BLAE A
B 1T % A
® T X
FHH L RH ~  SERE3IAE 2H27H
MO R
Fr % H & sk sk sk sk sk ok ok sk sk sk
Z 5t M a0 HERaVYILE Y b
R YA 2k % % 3k %k %k sk ok k ok %
fid =




o
5

n

BN LT (23) %

—A

& O & % 2,504, 520 2]
THE B X A & 2,319, 000 =]
U311 (R 2 i E Bl

O 5 B LD % 185, 520 ]

#




REBRNRERER

X %9 = & g &
BrE HEMIELEE
AlE—= 386,000 + 30,880 = 416,880
REt—= 1,933,000 + 154640 = 2 087,640
& i 2319000 + 185520 = 2,504,520




pi s AEBERARZZE
X5 B Fh = B4 | El (M) 58 (H) 1 =z
E ¥ EMICALUS
BEE | AEE |[LT) — = 202,129|NO. 1B8#A%
5 202,129
i3 EHEINEEICHLT 912 %BLUA
AEE |ERE 183,871

&5t 386,000 FHIED
HETE L 30,880
REXERE 416,880




(845)

&ET REHZKBENREK
X5 2 ¥ HE | B4 | EEE) +% (M) fi& =
SERT GAILA L ( 579,170 ) ((EEAHGE)
HREE  |EEERE|T — = 595970 |NO. 2 BA#IZE
( 141,100 )
TatHE — = 141,100 [NO. 13 Hiffik
BEtsEE ( 85,814 )
YERk — = 85814 [NO. 14 HiffiF&
( 806,084 ) [(EEAGE:A)
g 822,884
R ¥ IR 1 | 2 o it SR 4 434076 |A*x o/ (1—a) «=0.35
&t 1,256,960 |B
—REEES 676040 [B*x B (1—B) B=0.35
B 1,933,000 FHIED
HEFALEE 154,640
ERETERE 2,087,640




NO. 1 R E B\ =
&
15 we | 2 B G) s | FOE B =

EMI GRS L) (REEEENRE)
HE#ER 012 km 69,203 8,304 1
EEICELUS LTI
AL IRAIE 012 km 282,872 33,944 2
EEICARUA LT
5 5 Mt TR & 0.12 km 138,426 16,611 3
RE LA L ( 49,473 08,946
E)ﬁffgﬁﬁﬁﬂﬁg@ 2| &M 51,910 103,820 4
EMICARIUA LT
FERER 1 %% 29,556 29,556 5
EMI AL LT) WEWHEERIIED10%
REEESR 10 % 98,946 9,894 —

H 202,129 SHI:»)




(5%%75)
NO. 2 BE Bl # =
&

5 we | wme | BEE) % (M) §1ﬁ§ w =
EBICALA LTI ( 88,418 )| ( 88,418 ) (BEEALE)
BHihEAE # 88,418 88,418 6
EEICGALA LTI ( 76,206 )| ( 76,206 ) (BEALS)
HEARFHORE # 76,206 76,206 7
ERICAELUALT) ( 191,976 )| ( 191,976 ) (BEEAGE)
EREHETE 4 191,976 191,976 8
EEICALA LTI ( 25,940 ) |( 51,880 ) (BEEALE)
TEETE = 25,940 51,880 9
REICGALA LTI) ( 38,613 ) |( 77,226 ) (BEEAGE)
&R 1R £ 47,013 94,026 10
EEITCALA LTI ( 21,660 ) |( 43,320 ) (BEEAHGE)
HEHE £ 21,660 43,320 11
EBICGALA LT ( 25072 ) |¢ 50,144 ) (BEEALE)
BE = 25,072 50,144 12

( 579,170 )
B 595,970 2 N1 )




